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FOM 10 — Chapter 1 PRACTICE Test*** /26

Each question is written response (except #2). Show all of your work.

1) Are the following statements true of false: (0.5 marks each)

—
a) All natural numbers are integers: '

b) All rational numbers are whole numbers: J 0.7 1s tationa )

Lu+ NOT \4/{40,51/
2) To which set of numbers does Y—64 belong? (circle BEST answer for 1 mark)

= - —_—

Integer and Rational b) Irr}@nal c) WPQle, Integer, and Rational d) Rational
Yes =

ves \/es
3) Find the Greatest Common Factor (GCF) and Least Common Multiple (LCM) of the

following numbers: ;\6 and 28
&y

q 4
eloleley &%
2L =9¢2‘ 3.3 A8 :@@ 7 GCF =
2 22 = ).
3= ?,\ 3= A8= d l GCF: @@ ]_f_'f (1 mark)

LCM: 22, 39\' 7 (1mark)
=497

[cem= Q53]

4) Determine the following CUBE ROOT using the grouping method: (2 marks)
(*marks ONLY if the grouping method shownJ

3V 9/1_1\? 5 ** yse Calculator to help factor! P :’; i{‘o ‘!"C;pf,ozkj S'.,Mg
& 18235 QS = 2:3:3.3.3.3.5.5.5
6 3445 MNas=(3-2-5Y22.5 (3% 5)
ok 72 qn2s = (454X 45 )
& so...

~ V91125 = L'ff)/
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5) Write each radical in SIMPLEST Form, as a mixed radical: (1 mark each)

a) V63 b) V40 = i or5
=4 qAx7 _ 3 2
b ek

W
W
Nlis

9 381 = 33273
XA - 23 x3

6) Write each radical as an ENTIRE radical: (1 mark each) m

, 3
2 5VE =35 b) 3V2 = 3\’37 \{1
= \fajx = 3/27.2
=\125 = 3[59 |
7) Asquare hasanarea of 150cm?. Find the side length as a radical in simplest form.

(1 mark) \DA = SXS
150= 52
5 = |50 ,
s =150 side levghh®

e et ol

8) Write the following as a radical: (7 mark)

-
x% N Ll/ x Flower powc{‘!

9) Write the following as a power (exponent form): (7 mark)

2,
N
o
o

v n
818

g

1]

O

5/5%3 2
(\/—2-) N 7? ﬂom/cr powel‘;[

.

(‘://"\
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10) Evaluate the following: (2 marks each)

| |
a) 275=_1 _ b) (—125)75 = —, = ——==
> Chsp ™ s S

o)
11) Simplify. Answer must only have positive exponents. (2 marks each)
',"'{ "-"" __2
4p7q—"9 ) (64x2y9)
T b z :
2) 12Lipq2 4x8
_<,/ 2 9 4\”1
pusd ARV A
xﬁ“ ! //
_ ( / *3>-*1
X / 12

—f 5% ..»’2 | x
(_ /;;"3““’ = ;2% \/‘aa

12) Simplify. Answer must only have positive exponents. (3 marks)

1
% /Z3N\32

32x7 A%
oty =

5
8x=7y%

BONUS QUESTION ON THE BACK!
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BONUS ( for 1 BONUS mark)

What is the side length of the smallest SQUARE WALL that could be tiled with rectangular
tiles that measure 24 cm by 42 cm, without cutting any of the tiles?

— answer (%) will be Hﬁer Hhon ﬁ's)

2 so L.CM.!
U
oC
\ A\
6 Y & (2
oL oo 53D
M=32%3 ,/ 2:=2-3.7 |
(Yy<3.3 |
L_G;\_H == _3 } h}-C[‘\e‘_‘l F&!_A):
;_VY“'!"‘"‘ r;;‘,\-.; ’
! ’
[CM = %37 e Vist

So) the <ide /eV\SH\ of  Smallest S?"-";reﬂ\".
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